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QUESTION 1

What is the result in Array after the following code has executed? 

A. A 1-D array of {1, 4, 3, 2, 1, 0} 

B. A 1-D array of {1, 8, 0, 1, 2, 3, 4, 6, 2} 

C. A 1-D array of {1, 4, 3, 2, 1, 0, 8, 6, 2} 

D. A 1-D array of {1, 8, 0, 1, 2, 2, 9} 

Correct Answer: C 

 

QUESTION 2

What of these could cause the Case Structure\\'s case selector to show numbers instead of the Enum text? 

A. The Case Structure Options are set to display Enum as Numeric 
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B. The Enum constants are not Type Defs 

C. The Coercion dots prevent the text from displaying 

D. The Enum constants have inconsistent sets of cases 

Correct Answer: A 

 

QUESTION 3

After this VI runs, what will be the size of the Data indicator array? 

A. 80 rows, 5000 columns 

B. 20 rows, 5000 columns 

C. 401 rows, 5000 columns 

D. 81 rows, 5000 columns 

Correct Answer: D 

 

QUESTION 4

What will be displayed in Data Array Out after the VI runs with Data Array In and name input as shown? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 5

You have a control on the front panel of a VI and you need to modify one of its properties at run time. Which of the
following is the best approach you would take? 
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A. Create an implicit property node and select the property to modify 

B. Create a control reference, pass the reference to a property node and select the property to modify 

C. Create a linked shared variable and select the property to modify the property 

D. Create a local variable and select the property to modify 

Correct Answer: A 
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